Problem Set 6: SOLUTIONS

$$\Gamma(x) = \int_0^\infty t^{x+1} e^{-t} dt$$

(a)
$$\Gamma(1) = \int_0^\infty t^{H} e^{-t} dt$$

= $\int_0^\infty e^{-t} dt = -e^{-t} \Big|_0^\infty = -(0-1) = 1$

(b)
$$\chi \Gamma(x) = \chi \int_0^\infty t^{x-1} e^{-t} dt$$

$$= \int_0^\infty \chi t^{x+1} e^{-t} dt$$

$$= \int_0^\infty e^{-t} dt^x$$

$$= e^{-t} t^x \int_0^\infty t^x e^{-t} dt$$

$$= \int_0^\infty t^x e^{-t} dt$$

$$= \Gamma(x+1)$$

(c)
$$\Gamma(\frac{1}{2}) = \int_0^{\infty} t^{-\frac{1}{2}} e^{-t} dt$$

Set $u = \sqrt{t}$ then $t = u^2$ $dt = 2u du$.

$$\Gamma(\frac{1}{2}) = \int_0^{\infty} \frac{1}{u} e^{-u^2} \cdot 2u du$$

$$= 2 \int_0^{\infty} e^{-u^2} du$$

$$= \int_{-\infty}^{\infty} e^{-u^2} du$$

$$= \sqrt{t}$$

2. Averages

(a)
$$\langle A \rangle = \sum_{n=1}^{6} A_{n} P_{n}$$

= $\sum_{n=1}^{6} (n-3) \times e^{-2n} = ox $$ \$

(b)
$$\langle x \rangle = \int x P(x) dx$$

= $\int_{-\infty}^{\infty} dx \frac{x}{\sqrt[3]{2\pi}} e^{-\frac{x^2}{2}\sigma^2}$

The integrand is an odd function, so the integral is zero that is $\langle x \rangle = 0$

(c)
$$\langle x^2 \rangle = \int_{-\infty}^{\infty} dx \frac{x^2}{\sqrt{2}\pi^2} e^{-x^2/2\sigma^2} dx$$

$$= \frac{1}{\sqrt{2\pi}} \int_{-\infty}^{\infty} x^2 e^{-x^2/2\sigma^2} dx$$

$$= \frac{-\sigma^2}{\sqrt{2\pi}} \int_{-\infty}^{\infty} x de^{-x^2/2\sigma^2} dx$$

$$= \frac{-\sigma}{\sqrt{2\pi}} x e^{-x^2/2\sigma^2} \int_{-\infty}^{\infty} e^{-x^2/2\sigma^2} dx$$

$$= \frac{\sigma}{\sqrt{2\pi}} x e^{-x^2/2\sigma^2} \int_{-\infty}^{\infty} e^{-(\frac{x}{\sqrt{2}}\sigma)^2} d(\frac{x}{\sqrt{2}\sigma})$$

$$= \frac{\sigma^2}{\sqrt{2\pi}} x e^{-x^2/2\sigma^2} dx$$

3. More Probabilities

$$\Omega = \frac{N!}{\frac{1}{1!} n_i!} = \frac{5!}{2! \times 0! \times 3! \times 0!} = 10$$

4 Probability and entropy

$$\begin{aligned}
\nabla &= \ln \Omega \\
&= \ln \frac{N!}{n_1! n_2! \cdots n_t!} \\
&= \ln N! - \sum_{i=1}^{t} \ln (n_i!) \\
&= N \ln N - N - \sum_{i=1}^{t} \ln (N R_i)! \\
&= N \ln N - N - \sum_{i=1}^{t} (N R_i \ln (N R_i) - N R_i) \\
&= N \ln N - \sum_{i=1}^{t} N R_i \ln (N R_i) - N + N \\
&= N \ln N - N \sum_{i=1}^{t} R_i (\ln N + \ln R_i) \\
&= -N \sum_{i=1}^{t} R_i \ln R_i
\end{aligned}$$

$$E = (N-r)\varepsilon + r(-\varepsilon)$$

$$= (N-2r)\varepsilon = s\varepsilon$$

$$S = \frac{E}{\varepsilon}$$

$$\sigma(E) = In\Omega$$

$$= In \frac{N!}{(N-r)! r!}$$

$$= \ln N! - \ln \left(\frac{N-S}{2} \right)! - \ln \left(\frac{N+S}{2} \right)!$$

$$= N \ln N - \frac{N-S}{2} \left(\ln \frac{N}{2} + \ln \left(| - \frac{S}{N} \right) \right) - \frac{NtS}{2} \left(\ln \frac{N}{2} + \ln \left(| + \frac{S}{N} \right) \right)$$

$$= N \ln 2 - \frac{N-s}{2} \left(-\frac{S}{N} - \frac{1}{2} \left(-\frac{S}{N} \right)^2 \right) - \frac{Nts}{2} \left(\frac{S}{N} - \frac{1}{2} \left(\frac{S}{N} \right)^2 \right)$$

$$= N \ln 2 - \frac{S^2}{2N}$$

$$= N l_n 2 - \frac{E^2}{2 z^2 N}$$

6 Distribution of multiplicities for two systems.

$$\Omega_1 = \alpha E_1^{\alpha} \quad \Omega_2 = b E_2^{\beta} \quad \alpha > 1, \beta > 1.$$

$$(a) \frac{1}{T} = \frac{d6}{dE}$$

$$\nabla_1 = \ln \Omega_1 = \ln \alpha + \alpha \ln E_1$$

$$\nabla_2 = \ln \Omega_2 = \ln \alpha + \beta \ln E_2$$

$$\frac{1}{T_1} = \frac{dG_1}{dE_1} = \frac{\alpha}{E_1}$$

$$\frac{1}{T_2} = \frac{dG_2}{dE_2} = \frac{B}{E_2}$$

$$\frac{1}{T_2} = \frac{E_1}{B}$$

$$\frac{1}{T_2} = \frac{E_2}{B}$$

(b)
$$\Omega = \Omega_1 \Omega_2 = ab E_1^{\alpha} E_2^{\beta} = ab E_1^{\alpha} (E - E_1)^{\beta}$$

$$\frac{\partial \Omega}{\partial E_1} = ab \left(\alpha E_1^{\alpha + \beta} (E - E_1)^{\beta} - \beta E_1^{\alpha} (E - E_1)^{\beta + \beta} \right) = 0$$

$$\therefore \alpha E_1^{\alpha + \beta} (E - E_1)^{\beta} = \beta E_1^{\alpha} (E - E_1)^{\beta - \beta}$$

$$\therefore E_1 = \frac{\alpha E}{\alpha + \beta} \qquad E_2 = \frac{\beta E}{\alpha + \beta}$$

Ic) if
$$\beta$$
 gets large then $E_2 \gg E_1$.

It makes sense, for Ω , Ψ , Ω_2 one moreasing function of E_1 Ψ , E_2 , so $E_2 \gg E_1$ to make Ω get its maximum.

(d)
$$T_1 = \frac{E_1}{\alpha}$$
 $T_2 = \frac{E_2}{\beta}$
 $T_3 = \frac{E_4}{\alpha + \beta} = T_2$

(e) a=b, $\alpha=\beta$ at initial state

at equilibrium

Ji=Ina+alnEs

"the entropy of system 1 decreased

However, the entropy of the whole system increased. we can see, initially,

$$\nabla = \sigma_1 + \sigma_2$$
= $\ln \alpha + \propto \ln E_1 + \ln \alpha + \propto \ln E_2$
= $2\ln \alpha + \propto \ln (E_1 E_2) = 2\ln \alpha + \propto \ln (\frac{3}{16} E^2)$

equilbrium.

= Ina+ xIn(E)+Ina+aIn(E)

=2ha+ ~h (+ E2) > 0.

that's what people whispered, the entropy of the whole system always thereases, while entropy of one part of the system can decrease.